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[Ipeobpa3oBaHme rnponssBeaeHus
*TperHomeTpmqecmx (OYHKUMN B CYMMY
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TpuroHoMeTpuyeckne @yHKUMn

* MOIOBUHHOIO apryMeHTa
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Bbipa>keHne TpUroHOMeTpPUYECKOn yHKLIMM
* yepe3 TaHreHC NoI0BMHHOIO apryMeHTa
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[Ipeobpa3oBaHme cTeneHeu
* CMHYCa U KOCMHYCa

sin® @ = ;(l —cos2a), cos’a = %(H cos 2a),

sin® @ = (3 @- s 3a), cos’ @= -l-(3cosar+ c0s 3a),

4 4

sin* @ = l(3—400324:r+<:os-4<:1:),

8

cos’ @ = l(3+-4cos 2a+ cos da)

8



* CeKaHC U KOCEKaHC

: =seco, # — (2k+1) coso = :

COS X 2 SeC o

1 . 1

. =coseca,0 # mk,SIn QL =
Sin o coseca



+

l+tg’0 =sec” a

l+ctg’o =cosec’a



PewleHne 3a0au4

« N2 21 (a, 6)
« N2 22 (3, 6)
« N2 23 (q, 6)
« N2 24 (a3, 6)
= N2 25 (q, 6)




* [loMallHee 3aaaHme

« N2 21 (B, I')
« N2 22 (B, I)
« N2 23 (B, I')
« N2 24 (B, I')
« N2 25 (B, )




